b

CEBI11
DESCRIPTIVE TYPE QUESTIONS
SUBJECT : PHYSICS
FULL MARKS: 10
(Each question carries two marks)
You have lo answer in SEPARATE ANSWER SCRIPT provided for Physics
(English Yersion)

A shell of'mass mis al rest mtinlly. [texplodes into three fragments havitig masses intherto2:2: 1.
“The fragmenis having equal masses fiy off along mutuaily perpendicular direction with speed v. What

will be the speed of the third (lighter) fragment 2

A small spherical ball of muss m slides without friction fram the top ol'a hemisphere ofradivg R, A
what height will the ball lose contact with surface of the sphere ?

Two identical cylindrical vessels, with their bases at the same level, cach contain ¢ liquid of density p-
The height of ligquid in one vessel mh and that in liu:mhn'..is'h;. The arca of either basc is A. What is
the work done by gravity in equalizing the levels when the vessles are interconnected ?

A baitery of emf E and internal resistance r is connected across a pure resistive device (such as an
clectric heater) of resistanee R, Prove that the power output of the device wiil be maximumifR =r.
Aradioactive isotope X with half life 1.5 x 10” yrs. decays into a stable nucleus Y. A rock sample
contains both elements X and Y in ratio 1: 15. Find the age of the rock.

(Bengali Version)
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CEB11
DESCRIPTIVE TYPE QUESTIONS
SUBJECT : CHEMISTRY
i ' FULL MARKS: 10
' (Each question carries two marks)
You have 1o answerin SEPARATE ANSWER SCRIPT provided for Chemistry:
(English Version)

1. Thebacterial growth foliows the rte i, S5 < KN where “K- is & constant and *N"is the numbec of
bactenia cell atany time. Tfithe population of bacteria (no. of cell) isdoubled in S minutes; find the time
by which the population will be eight times of the initial one.

[ 2. In'sm) 0.3 (N) HOL addition of 200 mi distilled water onaddition of 100 mi 0.1 (N) NaOH, gives

same final acid strenpth. Determine ‘x’°

3. Compound A treated with NaNH, followed by CH,CH,Br gave compound B. Partial

| hydrogenution of compound B produced compound C, which on ozonolysis gave a carbonyl

' compound D, (C,H 0). Compound D did not respond to jodoform test with [/KI and NaOH. Find

out the structurcs of A, B, C &D. .
4. Anorgame compound with malecular fomula C H, O forms 2, 4-DNP derivative, reduces Tollen's

reagent uad undergoes Canntzzaro renction. On vigorous oxidation it gives a dicarboxylic acid which

1s used in the preparation of terylene. Identify the organic compound.

5. Deepblue CuSO,.5H,0 is converted to a bluish white salt at 100 °C. At250 °C and 750 °Cit is then

transformed to a white powder i black matenal respectively. Identify the salts.

(Bengali Version)
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